LOBBYIST MONTHLY REPORT FORM

Page of Page(s)
THIS SPACE FOR OFFICE USE ONLY



State of Idaho

Ben Ysursa Secretary of State

Phone: (208) 334-2852 Fax: (208) 334-2282

To Be Filed By:

L-3

LOBBYISTS
(Sec. 67-6619)

II MAR - 7 PM 4: 18

SECREDATE OF IDAHO

(Type or print clearly in black ink) See instructions at bottom of page Lobbyist's name and permanent business address Date prepared Period covered Kent Lauer month ending 500 West Washington March 7, 2011 (Mo.) (Day) (Yr.) Boise, ID 83702 2 28 2011 Item Totals of all reportable expenditures made or incurred by Lobbyist or by Lobbyist's Employer on behalf of Lobbyist's Employer. 1 Proportionate amounts contributed by each employer (Identify employers, under Category of Expenditure *Total Amount for Item 3, at bottom of page.) Reimbursed Personal Living and Travel All Employers Expenses Pertaining to Lobbying Activity Do Not Have to be Reported Employer No. 1 Employer No. 4 Employer No. 2 Employer No. 3 Entertainment 6,932.66 6,932.66 Food and Refreshment Living Accommodations Advertising Travel Telephone Other Expenses or Services 6,932.66 6,932.66 0.00 0.00 0.00 Total *When the number of employers you are reporting for requires multiple L-2 forms to be filed a total amount for all employers should be entered on Page 1. The totals of each expenditure of more than one hundred dollars (\$100) for a legislator, other holder of public office, executive officials and member(s) of their household. Item-Names of Legislators, Public and Executive Officials 2 Date Place Amount and Household Members in Group Continued on attached page(s) Item Employer(s) Name(s) and Address(es) INSTRUCTIONS Idaho Farm Bureau Federation No. 1 Who should file this form: Any lobbyist registered under Section 67-6617 Idaho Code P.O. Box 4848 Filing deadline: Monthly reports due within fifteen (15) days of the No. 2 Pocatello, ID 83205 month for activities of the past month. TO BE FILED WITH: No. 3 Ben Ysursa Secretary of State PO Box 83720 Boise, ID 83720-0080 No. 4

•			ion, the number of the Senate	$\overline{}$	LEGISLATIVE SUI	JECT	IDENTIFICATION
Subject (from 1,4,7, 12,13 15,16 22,23 28,29	the L t Code table) 8,11 3,14, 6,17 3,27	Bill, Resolution or Other Legislative Ident. Number H17,22,23,25,29	Appropriation Bill Number and Section Number	Code 01 02 03 04 05 06 07 08 09 10 11 12 13 14 15 16	Subject Agriculture, horticulture, farming, and livestock Amusements, games, athletics and sports Banking, finance, credit and investments Children, minors, youth, senior citizens Church and religion Consumer affairs Ecology, environment, pollution, conservation, zoning, land and water use Education Elections, campaigns, voting, political parties Equal rights, civil rights, minority affairs Government, financing, taxation, revenue, budget, appropriations, bids, fees, funds Government, county Government, federal Government, municipal Government, special districts Government, state	Code 17 18 19 20 21 22 23 24 25 26 27 28 29 30	Subject Health service, medicine, drugs and controlled substances, health insurance, hospitals Higher education Housing, construction, codes Insurance (excluding health insurance) Labor, salaries and wages, collective bargaining Law enforcement, courts, judges, crimes, prisons License, permits Liquor Manufacturing, distribution and services Natural resources, forest and forest products, fisheries, mining and mining products Public lands, parks, recreation Social insurance, unemployment insurance, public assistance, workmen's compensation Transportation, highways, streets and roads Utilities, communications, televisions, radio, newspaper, power, CATV, gas Other (please specify)
Item 5	bid or	y any rule, ratemaking decisi bid process, financial services opposing.	on, procurement, contract, s or bond lobbyist was support-	7	CERTIFICATION: I hereby certify correct statement in accordance with Tour Lobbyist signature	Section	

Red Lion Hotel Boise Downtowner

1800 Fairview Avenue Boise, ID USA 83702 Phone: (208) 344-7691 - Fax: (208) 383-4997

Banquet Check

Page 1 of 2 BEO#: 1273

Account: Post As:

Idaho Farm Bureau
IFBF Conferences

Address:

500 West Washington Street

PO Box 167

Boise, ID 83701

Event Date: 2/8/2011

Contact: Shawna Yasuda

Phone: (208) 333-7084

Fax: (208) 342-8585 Onsite: Y Shawna Yasuda

Phone: (208) 333-7084 Fax: (208) 342-8585

Payment Method: Direct Bill

Profile ID: ID1203

Day/Date	Time	Function	Room	Gtd
Tuesday, February 08, 2011	2:00 PM	Buffet Line	Cedar	
Tuesday, February 08, 2011	6:00 PM	Legislative Reception	Ballroom	

NO.	FOOD	PRICE	SUBTOTAL	TOTAL
1	BARON OF BEEF	475.00	475.00	
1	INSIDE ROUND OF BEEF	250.00	250.00	
6	CAJUN TURKEY BREAST	135.00	810.00	
3	BAKED HAM	150.00	450.00	
30	DOZ DEVILED EGGS	12.50	375.00	
25	DOZ MUSHROOMS STUFFED W/CRAB & CHEESE	15.95	398.75	
3	IMPORTED & DOMESTIC CHEESES (CHEESES DONATED BY BALLARD FARMS) SERVED WITH CRACKRS AND FLATBREADS)	30.00	90.00	
25	DOZ BAKED POTATO BOATS WITH ASSORTED TOPPINGS	15.00	375.00	
4	PLATTERS OF FRESH SEASONAL FRUITS WITH RASPBERRY YOGURT SAUCE	125.00	500.00	
3	ANTIPASTO ASSORTMENTS W/ASSORTED VEGGIES AND MEATS	150.00	450.00	.6.
25	DOZ DECADENT DESSERT BARS (CUT IN TRI- ANGLE SIZE)	22.00	550.00	`
1	COFFEE	26.00	26.00	
24	FRUIT PUNCH	12.00	288.00	
24	LEMONADE	12.00	288.00	
	TOTAL FOOD		5,325.75	
i	Service Charge %	19.00	1,011.89	
	Sales Tax %	6.00	380.26	
				6,717.90
NO.	BEVERAGE	PRICE	SUBTOTAL	TOTAL
7	Soda	2.25	15.75	
2	Domestic Beers	3.75	7.50	
3	Imports and Microbrew Beer	4.50	13.50	

Banquet Check

Page 2 of 2 BEO#: 1273

ccount:	ldaho Farm Bureau	Event Dat	e: 2/8/2	011	
ost As:	IFBF Conferences	Contact:	Shaw	na Yasuda	-
ddress:	500 West Washington Street	Phone:	(208)	333-7084	
	PO Box 167	Fax:		342-8585	
	Boise, ID 83701	Onsite:		na Yasuda	
	20100, 12 00701	Phone:		333-7084	
	About Discost Dill	Fax:	(208)	342-8585	
rofile ID:	ID1203		Y 1		
17	Wine	- 	5.50	93.50	
	,	TOTAL BEVERAGE		130.25	
		Service Charge %	19.00	24.75	
	·	Sales Tax %	6.00	9.30	
					164.30
NO.	A/V and Other Charges		PRICE	SUBTOTAL	TOTAL
1	Carving station with Uniformed Carvin	ng Chef	40.00	40.00	
	тот	AL A/V and Other Charges		40.00	
		Service Charge %	19.00	7.60	
		Sales Tax %	6.00	2.86	
					50.46
			Grand Total	:	6,932.66

Balance Due:

6,932.66

.

•

Date: 2/8/2011

ient Signature

Strolling Buffet Red Lion Downtowner February 8, 2011 Attendance List

Legislators:	
Rep. Shannon McMillan	Rep. Linden Bateman
Rep. Dick Harwood	Rep. Mike Moyle
Rep. Lenore Barrett	Sen. Sheryl Nuxoll
Rep. Joann Wood	Rep. Mack Shirley
Sen. Denton Darrington	Sen. John Tippets
Rep. Darrell Bolz	Sen. Jeff Siddoway
Rep. George Eskridge	Rep. Jeff Nesset
Rep. Fred Wood	Sen. Curt McKenzie
Rep. Dell Raybould	Rep. Jeff Thompson
Sen. Steve Bair	Rep. Stephen Hartgen
Rep. Brian Cronin	Rep. Monty Pearce
Rep. Carlos Bilboa	Total Legislators: 50
Rep. Gayle Batt	
Sen. Shawn Keough	Guests:
Rep. Donna Pence	Charlie Howell Jerome Co. Comm.
Rep. Ken Andrus	Roger and Mrs. Morley - Jerome
Rep. Tom Trail	Celia Gould - ISDA
Rep. Jim Guthrie	Vera Raybould
Rep. Wendy Jaquet	Lori Bair
Rep. John Vander Woude	Mike Keough
Sen. Michelle Stennett	Jo Ann Trail
Rep. Maxine Bell	Judy Vander Woude
Rep. Christy Perry	Jack Bell
Sen. Melinda Smyser	Matt Perry
Rep. Paul Shepherd	Cameron & Beverly Wheeler for Marc Gibbs
Rep. Joe Palmer	Jim Unswoth Dist. 21 (crasher?)
Rep. Jim Marriott	Dawn Shepherd
Rep. Steve Thayn	Lesli Palmer
Rep. Richard Wills	Comm.Carter Bingham Dist. 6 ? (crasher)
Sen. Lee Heider	Connie Wills
Rep. Ken Roberts	Teri Nesset
Rep. Marv Hagedorn	Jan Heider
Sen. Bert Brackett	Bonnie Butler Office of the Governor
Rep. Judy Boyle	Paula Brackett
Rep. Sharon Block	Luann Lake
Rep. Erik Simpson	Deann Bateman
Rep. Dennis Lake	Shanna Shirley
Rep. Scott Bedke	Natalie Tippets
Rep. Lawerence Denney	Total Guests: 26

State Board:		Staff:	
Frank & Susan Priestley	2	Rick Keller	1
Mark & Patti Trupp	2	Nancy Shiozawa	1
Bryan Searle	1	Joel Benson	1
Scott Bird	1	John Thompson	1
Chris Dalley	1	Ray Poe	1
Dean & Shirlene Schwendiman	2	Kendall Keller	1
Danny Ferguson	1	Dennis Brower	1
Scott Steele	1	Bob Smathers	1
Gerald & Celia Marchant	2	Nicole Swafford – College Intern	1
Rick Pearson	1	Dennis Tanikuni	1
Curt Krantz	1	Wally Butler	-
Michael & Mel McEvoy	2	Shawna Yasuda	1
Tracy & Sheri Walton	2	Steve Ritter	1
Marjorie French	1	Jake Putnam	1
Bob Callihan	1	Chuck Garner	1
Louis Kins	1	Russ Hendricks	1
Carol Guthrie	1	Kent Lauer	1
Autstin Tubbs	Ξ	Phil Joslin	1
Total:	23	Total:	17
County Membership:		Doris and Jim Pearson	2
Jane Ann Ward	1		1
Allis & Kirk Chandler	2		2
Carole & Del Rust	2		1
Colin & Rose Longworth	2		1_
Tom & Jeannie Billington	2		2
Carl & Linda Montgomery	2		2
Tom & Sandy Daniel	2		1
Merle Olsen	1	7.10.11.79	1
Jesse & Julia Phillips	2		1
Terry & Dottie Jones	2		1
Judith Hale	1	7	1
Earl& Kathryn Christensen	2		1
Bill & Betty DeVeny	2		2
John & Marylyn Richard	2	Alton Howell	1
Aaron Romrell	1	Blaine & Kayla Evans	2
Mike Ingersoll	1		1
Jean Offermann	1	Vaughn & Lisa Jensen	2
Albert & Merri Johnson	2	Chris & Carrie Hollaway	2
Tracy Lakey	1	Kent Howard	1
David Ascuena	1	Ralph Dalley	1
Russ Lowery	1	Sheldon & Rhonda Barfuss	2
Daniel Garner & guest	2	Kirk Irick	1
Winston & Deon Larsen	2		

. ,

John & Lori Sharp 2 Duke Mumford 1 Don Sonke 1 Shane Stevenson 1 Kara Jackson 1 Beth Carter 1 Sandy Stevenson 1 Mark Bair 1 Holly Hancock 1 Doug Barrie 1 Gina Davis 1 Gary & Linda Lemmon 2 Cody Chandler 1 Zip Zediker 1 Luke Pearce 1 Neal Ward 1 Fred & Emy Darringtron 2 Evan & Matt Kohtz 2 Norman & JoAn Mason 2 Quey Johns 3 Total Members: 96	
Don Sonke 1 Shane Stevenson 1 Kara Jackson 1 Beth Carter 1 Sandy Stevenson 1 Mark Bair 1 Holly Hancock 1 Doug Barrie 1 Gina Davis 1 Gary & Linda Lemmon 2 Cody Chandler 1 Zip Zediker 1 Luke Pearce 1 Neal Ward 1 Fred & Emy Darringtron 2 Evan & Matt Kohtz 2 Norman & JoAn Mason 2 Quey Johns 3 Total Members: 96	
Kara Jackson 1 Beth Carter 1 Sandy Stevenson 1 Mark Bair 1 Holly Hancock 1 Doug Barrie 1 Gina Davis 1 Gary & Linda Lemmon 2 Cody Chandler 1 Zip Zediker 1 Luke Pearce 1 Neal Ward 1 Fred & Emy Darringtron 2 Evan & Matt Kohtz 2 Norman & JoAn Mason 2 Quey Johns 3 Total Members: 96	
Beth Carter 1 Sandy Stevenson 1 Mark Bair 1 Holly Hancock 1 Doug Barrie 1 Gina Davis 1 Gary & Linda Lemmon 2 Cody Chandler 1 Zip Zediker 1 Luke Pearce 1 Neal Ward 1 Fred & Emy Darringtron 2 Evan & Matt Kohtz 2 Norman & JoAn Mason 2 Quey Johns 3 Total Members: 96	
Sandy Stevenson 1 Mark Bair 1 Holly Hancock 1 Doug Barrie 1 Gina Davis 1 Gary & Linda Lemmon 2 Cody Chandler 1 Zip Zediker 1 Luke Pearce 1 Neal Ward 1 Fred & Emy Darringtron 2 Evan & Matt Kohtz 2 Norman & JoAn Mason 2 Quey Johns 3 Total Members: 96	
Mark Bair 1 Holly Hancock 1 Doug Barrie 1 Gina Davis 1 Gary & Linda Lemmon 2 Cody Chandler 1 Zip Zediker 1 Luke Pearce 1 Neal Ward 1 Fred & Emy Darringtron 2 Evan & Matt Kohtz 2 Norman & JoAn Mason 2 Quey Johns 3 Total Members: 96	
Holly Hancock Doug Barrie Gina Davis Gary & Linda Lemmon Cody Chandler Zip Zediker Luke Pearce Neal Ward Fred & Emy Darringtron Evan & Matt Kohtz Norman & JoAn Mason Quey Johns Total Members: 1 1 1 1 1 1 1 1 1 1 1 1 1	
Doug Barrie 1 Gina Davis 1 Gary & Linda Lemmon 2 Cody Chandler 1 Zip Zediker 1 Luke Pearce 1 Neal Ward 1 Fred & Emy Darringtron 2 Evan & Matt Kohtz 2 Norman & JoAn Mason 2 Quey Johns 3 Total Members: 96	
Gina Davis 1 Gary & Linda Lemmon 2 Cody Chandler 1 Zip Zediker 1 Luke Pearce 1 Neal Ward 1 Fred & Emy Darringtron 2 Evan & Matt Kohtz 2 Norman & JoAn Mason 2 Quey Johns 3 Total Members: 96	
Gary & Linda Lemmon 2 Cody Chandler 1 Zip Zediker 1 Luke Pearce 1 Neal Ward 1 Fred & Emy Darringtron 2 Evan & Matt Kohtz 2 Norman & JoAn Mason 2 Quey Johns 3 Total Members: 96	
Cody Chandler 1 Zip Zediker 1 Luke Pearce 1 Neal Ward 1 Fred & Emy Darringtron 2 Evan & Matt Kohtz 2 Norman & JoAn Mason 2 Quey Johns 3 Total Members: 96	
Zip Zediker 1 Luke Pearce 1 Neal Ward 1 Fred & Emy Darringtron 2 Evan & Matt Kohtz 2 Norman & JoAn Mason 2 Quey Johns 3 Total Members: 96	
Luke Pearce1Neal Ward1Fred & Emy Darringtron2Evan & Matt Kohtz2Norman & JoAn Mason2Quey Johns3Total Members:96	
Neal Ward Fred & Emy Darringtron Evan & Matt Kohtz Norman & JoAn Mason Quey Johns Total Members: 96	
Fred & Emy Darringtron 2 Evan & Matt Kohtz 2 Norman & JoAn Mason 2 Quey Johns 3 Total Members: 96	
Evan & Matt Kohtz 2 Norman & JoAn Mason 2 Quey Johns 3 Total Members: 96	
Norman & JoAn Mason 2 Quey Johns 3 Total Members: 96	
Quey Johns 3 Total Members: 96	
Total Members: 96	
Summary:	
Summary:	
Legislators 50	
Guests 26	
State Board & Guests 23	
Staff 17	
County Membership <u>97</u>	
211	